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 Comparative and superlative adjectives 

Your uncle wants to buy a new laptop, but he is not sure which one to get. You have 

found a comparison table of three popular laptop brands. Read the table and 

complete the email to your uncle using the correct form of the words in the box. You 

may use some of the words more than once.  

 

 

 Avada Flipbook Banana Silver Wizardtech Vision 

Price $4,500 $6,000 $9,500 

Screen size (length x 
width x thickness) 

21 cm x 29.7 cm x  
1.3 cm 

20.5 cm x 29 cm x  
0.9 cm 

22.4 cm x 32.3 cm x 
1.5 cm 

Weight 1.04 kg 1.2 kg 3.5 kg 

Hard disk capacity 800 GB 2 TB 4 TB 

Battery life 6 hours 10 hours 4 hours 

Year of release 2014 2018 2017 

After-sales service    

Overall rating    

 

Dear Uncle Albert, 

Hello, how are you? I know that you are planning to buy a new laptop. I’ve done some research on 

three of the top sellers and got some details to share with you.  

Avada Flipbook is the cheapest laptop. While it is (1) ____________________ (light) among the 

three brands in terms of weight, it has the least hard disk capacity. Its battery life is 

(2) ____________________ (long) that of Wizardtech Vision, but shorter than that of Banana 

Silver. It is (3) ____________________ (old) model and its overall rating 

is (4) ____________________ (bad) among the three. 

Banana Silver is (5) ____________________ (costly) Avada Flipbook, but cheaper than Wizardtech 

Vision. Its hard disk capacity is (6) ____________________ (large) that of Avada Flipbook but is 

(7) ____________________ (small) that of Wizardtech Vision. Its battery life is the longest of them 

all. It is a highly portable laptop since its screen is (8) ____________________ (thin) the other two 

brands. An obvious advantage of Banana Silver is that it is (9) ____________________ (late) 

product in town as its year of release is 2018.  
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According to online reviews, it has (10) ____________________ (good) overall rating. This means 

that it is (11) ____________________ (sought-after) Avada Flipbook and Wizardtech Vision. 

Wizardtech Vision is (12) ____________________ (expensive) brand. It has the largest hard disk 

capacity and it has (13) ____________________ (big) screen of them all. Its shortest battery life 

also makes it less user-friendly than the other two brands. Users of Wizardtech Vision may find it 

difficult to carry around because it is (14) ____________________ (bulky) laptop. 

Apart from individual laptop specifications, we should pay attention to the after-sales service to 

ensure a good user experience. Wizardtech Vision’s service is (15) ____________________ (good) 

Avada Flipbook’s but (16) ____________________ (bad) Banana Silver’s. 

Overall, it is evident that the Banana Silver has the best value with good quality and reasonable 

price. Therefore, I highly recommend you to get one! 

Yours sincerely, 

_______________  
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Making comparisons 

Your cousin overseas is coming to visit Hong Kong soon. Write an email to her 

about public transport in Hong Kong with the correct words from the box. You may 

use some of the words more than once. 

alike different from like the fewest not as … as the least 
as … as fewer … than less … than more … than the most the same as 

 
 

Dear Veronica, 

I’m so excited that you are visiting Hong Kong soon. I know that it’s your first time here. Hong Kong 
is quite (1) _______________ Canada in terms of its public transport system, so let me introduce 
to you the different forms of public transport in Hong Kong and how to get around the city. 

There are many different ways to travel around Hong Kong. The MTR, a rapid transit network, is 
the most popular form of public transport in the city because of its speed and convenience. In 
terms of capacity, it carries (2) _______________ passengers. There are (3) __________ people 
travelling on the MTR __________ on other forms of public transport. Compared to other forms of 
public transport, it has (4) _______________ accidents on record. 

If you want to appreciate the unique street view in Hong Kong, you can take a tram ride on Hong 
Kong Island. The tram is (5) _______________ the MTR in a way since they both run on rails, but 
the tram is definitely (6) __________ fast __________ the MTR. Yet, a slow-paced journey is 
exactly the essence of a tram ride! It also costs (7) __________ money to travel by tram 
__________ by MTR. 

You may have heard of the famous Victoria Harbour. Taking the ferry is the best way for you to travel 
across the beautiful harbour and admire Hong Kong’s modern city views on both sides of the shores. 
The ferry and the tram are (8) __________ in that they are both cheap and slow-paced. However, the 
ferry is (9) _______________ the tram because it is a type of water transport. There is 
(10) _______________ traffic flow in the sea, so you’ll never need to worry about traffic congestion. 

The bus is the most common public transport you will see on the roads. They are (11) __________ 
bees buzzing around the city. They are almost (12) __________ convenient __________ the MTR 
because you can find them on almost every other street. The advantage of buses is that they reach 
(13) _______________ destinations among all forms of land transport. 

Travelling by taxi is always an excellent option if you want a point-to-point transport service. 
Although taxis serve (14) __________ passengers __________ other forms of public transport in a 
single journey, they provide the best personalized travelling experience. Taxi booking service is 
especially suitable for tourists who want to visit multiple tourist attractions in one single day. 

I hope the above information is helpful for your upcoming trip to Hong Kong. See you soon! 

Love, 

_______________ 
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Using too much, too many, too little, too few and enough 

You have interviewed an environmentalist for writing an article for the school 

newspaper about environmentalism. You are reviewing the interview transcript. 

Complete the transcript with ‘too much’, ‘too many’, ‘too little’, ‘too few’ and ‘enough’. 

 

An interview with an environmentalist 

Q: What are some of the biggest environmental problems in Hong Kong nowadays? 

A: Well, first of all, there is (1) ____________ pollution. There are (2) ____________ vehicles 

on the roads and not (3) ____________ green spaces. There are simply insufficient trees 

to absorb the carbon dioxide emitted from the vehicles on the road. 

Q: What is the solution then? People must commute on the roadways. 

A: Actually, we have more than (4) ____________ forms of public transport available in our city. 

Most people do not really need a private car. Sadly, (5) ____________ people think about 

the impact on the environment before they decide to buy a car. 

Q: What other problems are there? 

A: We have produced (6) ____________ rubbish in the city. (7) ____________ people buy 

takeaways in polystyrene containers. They are not biodegradable. Facing the increasing 

pressure of rubbish problems, it seems that we have (8) ____________ landfills to handle 

waste disposal. Since the current ones will be full soon, what should we do with all of 

our rubbish then? I feel that people give (9) ____________ attention to this issue. 

Q: So, there are pollution and waste disposal problems. But what can we do to address these 

environmental issues? 

A: The main responsibility falls on the government. However, the government does 

(10) ____________ to deal with environmental problems. There are (11) ____________ 

programmes dedicated to public education on environmental protection. I have done a lot of 

interviews before and realized that (12) ____________ citizens are totally unaware of 

how to protect our environment. I think this is largely due to a lack of education. 

Q: Climate change is a global concern as well. Is there (13) ____________ time left to save 

the earth? 

A: I think there is still (14) ____________ time for us to save our planet, but we must act as soon 

as possible.   
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Consolidation  

You and your elder sister want to take your mum out for a celebration dinner. You 

have found information about three different restaurants online. Read the 

information and complete the email to your sister using the correct words or the 

correct form of the words in brackets. Underline the correct words in brackets. 

 

Dear Samantha,  

I’ve found some information about a few different restaurants that we could take Mum to 

for her birthday. Let me give you a quick summary. 

Tony’s Bistro, an Italian restaurant, is one of the three possibilities. It has 

(1) _______________ (good) service among the three restaurants. People say that, not 

only are its meals affordable, its service is also (2) __________ hospitable __________ 

those you can receive in a five-star restaurant. Its price is lower than Bob’s Bar and Grill but 

higher than Chef Larry’s. According to online reviews, its food tastes (3) _______________ 

(good) Chef Larry’s but (4) _______________ (bad) Bob’s Bar and Grill. In fact, opinions on 

its food quality are split. One food critic said that there was way (5) (too many/too much) 

salt in its food, while another said that there wasn’t (6) (enough/too few). Nevertheless, the 

best thing about Tony’s Bistro is that it offers (7) __________ time __________ the other 

two restaurants for dining. We don’t have to hurry through our meal if we go there! What’s 

more, it has (8) _______________ Instagram followers. So, it’s definitely an appealing 

option.

 Tony’s Bistro Bob’s Bar and Grill Chef Larry’s 

Opening hours 12 noon–11 p.m. 12 noon–1 a.m. 11 a.m.–12 midnight 

Service Excellent Satisfactory Poor 

Price $150–250 $250–350  $100–150 

Food quality    

Food portion    

Food variety    

Vegetarian menu Yes No Yes 

Time limit 120 mins 75 mins 90 mins 

Instagram followers 15,000 10,300 8,100 

Location Tai Po Aberdeen  Mong Kok 
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Bob’s Bar and Grill is another place we could go. Their food is (9) ___________________ 

(expensive) among of the three, but it is also the most delicious. However, despite its 

outstanding food quality, reviewers commented that the food portions are barely 

acceptable. One reviewer said, ‘That was probably (10) _______________ (thin) steak 

I have ever eaten!’ In addition, it offers (11) __________ food variety __________ Tony’s 

Bistro. (12) (Same as/Different from) Tony’s Bistro and Chef Larry’s, Bob’s Bar and Grill 

does not offer a vegetarian menu. There were also (13) (too few/too little) waiters on duty, 

so trying to get their attention was (14) (alike/like) trying to catch a taxi during rush hour. 

Another discouraging thing is that Bob’s Bar and Grill provides (15) _______________ time 

for diners. I can’t imagine how clumsy it’ll be to finish the entire dinner within 75 minutes. 

The last one is Chef Larry’s. Honestly, the service and food at this restaurant are not as 

attractive as the other two. I’m still bringing it up because it has the cheapest dishes 

to offer. Indeed, the types of dishes on its menu are (16) _______________ among the 

three restaurants. Also, concerning the service, one reviewer said that the waiters were 

(17) _______________ (rude) any other he had ever met elsewhere. If price is not our 

top priority, we had better consider the other two restaurants. 

Finally, in terms of opening hours, Tony’s Bistro closes (18) _______________ (early) 

among the three, while Bob’s Bar and Grill closes (19) _______________ (late).  

Mum is a vegetarian and I hope that she can enjoy a nice dinner on her birthday. 

On balance, I think Tony’s Bistro is (20) _______________ (worthy) the other two for its 

quality food, great service and sufficient time arrangement. Shall we go there for dinner? 

What do you think? 

Love, 

_______________ 


